Badji Mokhtar — Annaba University
L1 Informatics Faculty of Technology 2023/2024

Algebra 2 Time : 1h30
Department of Informatics

Algebra 2 Exam

Exercice: 1 (5 points)
Let F and G two subsets of R* defined by :

F={(z,y,z,t) eRY; z=2y=—2z=t}
G = {(x,y,z,t) €R4;x—l—y—z—t20}
1. Show that F and G are a vector subspaces of R*.

2. Gwe a basis for I, a basis for G, and deduce their dimensions.
3. Show that : R* = F & G.

Exercice: 2 (7 points)
Let the following linear maps :
f: R®—R? g: R? —R3
(ZE, Y, Z) — f(*ra Y, Z) - (Z7 TrT+y+ Z) (I,y) — g(x7/y) - (_y7 —T + 2y7 .I)
1. Determine a basis of ker(f), deduce the rank of f and that f is surjective.
2. a) Show that : g is injective, deduce rank of g.
b) Show that : {v; = (=1,2,0);vs = (0, —1,1)} is a basis of Im(g).
3. Show that : fog= Idg:.
4. Show that : ker(g o f) =ker(f) and determine Im(go f).

Exercice: 3 (8 points)
2 1 0

1. Let the matric M = | -3 -1 1
1 0 -1

a. Calculate A= I3 — M and B = I+ M + M?. let’s remember that : I3 =

o O =
O = O
—_— O O

b. Calculate A x B and B x A.
c. Deduce that B is invertible and give its inverse B~1.
2. Let the following system of equations :

dr+2y+z2=1
—Hr -2y —2=2 (1)
2r+y+z=-1

a. Show that this system is a Cramer’s system.

b. Find the solution of the system (1) by Cramer’s method.
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Exercice 1 (5 points)
Soient F' et G deux sous ensemble de R* définis par :

F= {(a:,y,z,t) eERY: z=2=—2= t}
G = {(x,y,z,t) €R4;x—l—y—z—t20}
1. Montrer que F' et G sont des sous-espaces vectoriels de R*.

2. Déterminer une base de F, une base de G, en déduire leur dimension respective.
3. Montrer que : R* = F ¢ G.

Exercice 2 (7 points)
Soient les application linéaires suivantes :

f: R®—R? g: R? —R3
(ZE, Y, Z) — f(*ra Y, Z) - (Z7 TrT+y+ Z) (I,y) — g(x7/y) = (_y7 —T + 2y7 .I)
1. Déterminer une base de ker(f), en déduire Rg(f) et que f est surjective.

2. a) Montrer que g est injective, en déduire Rg(g

)-
b) Montrer que : {vy = (—1,2,0);v9 = (0,—1,1)} est une base de Im(g).
3. Montrer que : fog= Idg2.

4. Montrer que : ker(go f) = ker(f) et déterminer Im(go f).

Exercice 3 (8 points)
2 1 0

1. Soit la matrice M =11 -3 -1 1
1 0 -1

a. Calculer A =13 — M et B = I3+ M + M?. Rappelons que : I3 =

o O =
o = O
_— o O

b. Calculer A x B et B x A.

c. En déduire que B est inversible et donner son inverse B~'.

2. Soit le systeme d’équation suivant :

dr+2y+z2z=1
—br —2y—z=2 (S)
2r+y+z=-1

a. Montrer que ce systéme est un systéeme de Cramer.

b. Trouwver la solution du systéeme (S) par la méthode de Cramer.
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